
Answer  

 

Figure 1 shows the center four grids of (a) Original view and (b) Extracted view.   

There is a following inconsistency between (a) and (b).   

 

(a) Original view 

There are two fuel rods and two water rod in these grids.  A diameter of fuel rod is 12.3 

mm and water rod 15 mm.  The grid containing a fuel rod has two plate springs.  The 

grid containing a water rod doesn’t have them. 

 

(b) Extracted view 

Each four grids have a plate spring.   
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(a) Original  view 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(b) Extracted view 

 

Figure 1  Center four grids 
late spring 

Water rod (D=15mm)
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